Ethiraju Thandapani; P. Sundaram; John R. Graef; Paul W. Spikes Asymptotic behaviour and oscillation of solutions of neutral delay difference equations of arbitrary order

Mathematica Slovaca, Vol. 47 (1997), No. 5, 539--551

Persistent URL: http://dml.cz/dmlcz/130177

### Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1997

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz



Math. Slovaca, 47 (1997), No. 5, 539-551

# ASYMPTOTIC BEHAVIOUR AND OSCILLATION OF SOLUTIONS OF NEUTRAL DELAY DIFFERENCE EQUATIONS OF ARBITRARY ORDER

E. THANDAPANI<sup>\*</sup> — P. SUNDARAM<sup>\*</sup> — JOHN R. GRAEF<sup>\*\*</sup> — PAUL W. SPIKES<sup>\*\*</sup>

(Communicated by Milan Medved')

ABSTRACT. The authors obtain results on the asymptotic properties of solutions of a higher order nonlinear neutral delay difference equation. Examples illustrating the results are included and some suggestions for further research are indicated.

## 1. Introduction

Consider the neutral difference equation

$$\Delta^{m}[y_{n-m+1} + p_{n-m+1}y_{n-m+1-k}] + \delta F(n, y_{n-l}) = 0, \qquad (E)$$

where  $m \geq 1$ ,  $\delta = \pm 1$ ,  $\Delta$  denotes the forward difference operator  $\Delta y_n = y_{n+1} - y_n$ ,  $\Delta^i y_n = \Delta(\Delta^{i-1}y_n)$ ,  $1 \leq i \leq m$ ,  $k, l \in \mathbb{N} = \{0, 1, 2, ...\}$ ,  $\{p_n\}$  is a sequence of real numbers,  $F \colon \mathbb{N} \times \mathbb{R} \to \mathbb{R}$  is continuous with  $uF(n, u) \geq 0$  for  $u \neq 0$  and  $n \geq N_0$ , and  $F(n, u) \not\equiv 0$  for  $u \in \mathbb{R} \setminus \{0\}$  and  $n \geq N_1$  for every  $N_1 \geq N_0$ . By a solution of (E), we mean a sequence  $\{y_n\}$  of real numbers which is defined for  $n \geq N_0 - M$  where  $M = \max\{k, l\} + m - 1$  and which satisfies (E) for  $n \geq N_0$ . A solution  $\{y_n\}$  of (E) is said to be *nonoscillatory* if the terms  $y_n$  are either eventually all positive or eventually all negative. Otherwise, the solution is called *oscillatory*.

Here we examine the oscillatory and asymptotic behavior of solutions of (E). If  $p_n \equiv 0$ , equation (E) becomes an *m*th order difference equation with a delay, and a good deal is known about the asymptotic and oscillatory properties of solutions of equations of this type especially when m = 1 or 2 and the equation is linear; for recent contributions see, for example, the papers of Cheng et

AMS Subject Classification (1991): Primary 39A10, 39A11.

Key words: difference equation, nonlinear, asymptotic behaviour, oscillation.

al. [5], Erbe and Zhang [7], Jaroš and Stavroulakis [13], Ladas et al. [6], [14]-[16], and Patula [21]-[22] for linear equations, and Bykov et al. [2]-[4], Erbe and Zhang [8], He [11], Hooker and Patula [12], Szmanda [23], and Wang and Yu [29] for nonlinear equations, as well as the monographs by Agarwal [1] and Lakshmikantham and Trigiante [17]. When  $p_n \neq 0$ , considerably fewer results of this type are known, and many of these are for linear equations with m = 1 or 2 (see Georgiou et al. [9]-[10], Lalli et al. [18]-[20], Thandapani et al. [24]-[28], Zafer and Dahiya [30], and the references contained therein). The results here are partially motivated by the papers [9], [10], [18], [20], [24], and [27], and in fact we generalize some of the results in those papers. Examples illustrating our results are included. The final section of the paper contains some suggestions for further research.

# 2. Oscillatory and asymptotic behavior

Many of our results will require the condition that if  $\{u_n\}$  is a sequence with  $u_n > 0$   $(u_n < 0)$  and  $\liminf_{n \to \infty} |u_n| > 0$ , then

$$\sum_{i=N_0}^{\infty} F(i, u_i) = \infty \ (-\infty) \,. \tag{1}$$

We will begin with a lemma that will facilitate proving the main results in this paper. In some parts of the lemma, we assume that there exist constants  $P_1$  and  $P_2$  such that either

$$P_1 \le p_n \le 0, \tag{2}$$

$$-1 \le p_n \le 0\,,\tag{3}$$

or

$$P_2 \le p_n \le -1 \,. \tag{4}$$

For notational purposes, we let

$$z_n = y_n + p_n y_{n-k}$$

We give proofs only for the case when a nonoscillatory solution is eventually positive since the proofs for an eventually negative solution are similar. In addition, when the proof for  $\delta = -1$  is completely analogous to the proof for  $\delta = +1$ , only the latter will be given. **LEMMA 1.** Suppose that condition (1) holds and  $\{y_n\}$  is an eventually positive (negative) solution of (E) with  $\delta = +1$  [ $\delta = -1$ ]. Then:

(a)  $\{\Delta^{m-1}z_n\}$  is an eventually decreasing (increasing) [increasing (decreasing)] sequence and

$$\Delta^{m-1} z_n \to \delta L < \infty \ (> -\infty) \qquad as \quad n \to \infty.$$

- (b) If  $\delta L > -\infty$  (<  $\infty$ ), then  $\liminf_{n \to \infty} |y_n| = 0$ .
- (c) If  $z_n \to 0$  as  $n \to \infty$ , then  $\{\Delta^i z_n\}$  is monotonic and

$$\Delta^{i} z_{n} \to 0 \qquad as \quad n \to \infty \quad and \quad \Delta^{i} z_{n} \Delta^{i+1} z_{n} < 0 \tag{5}$$

for i = 0, 1, ..., m - 1.

- (d) Let  $z_n \to 0$  as  $n \to \infty$ . If m is even [odd], then  $z_n < 0$   $(z_n > 0)$ . If m is odd [even], then  $z_n > 0$   $(z_n < 0)$ .
- (e) If (2) holds, then either  $\{\Delta^i z_n\}$  is decreasing (increasing) [increasing (decreasing)] with

$$\Delta^{i} z_{n} \to -\infty \ (\infty) \ [\infty \ (-\infty)] \qquad as \quad n \to \infty \tag{6}$$

for  $i = 0, 1, \ldots, m-1$ , or  $\{\Delta^i z_n\}$  is monotonic and (5) holds.

- (f) If (2) holds and m is even, then  $z_n < 0$   $(z_n > 0) [> 0 (< 0)]$ . If (5) holds and m is odd, then  $z_n > 0$   $(z_n < 0) [< 0 (> 0)]$ .
- (g) If (3) [(2)] holds, then (5) holds [either (5) holds or  $|y_n| \to \infty$  as  $n \to \infty$ ].
- (h) If (4) holds and m is odd [even], then (6) holds.

Proof. Suppose that  $\{y_n\}$  is an eventually positive solution of (E). Then there exists an integer  $N_1 \ge N_0$  such that  $y_{n-m+1-k} > 0$  and  $y_{n-l} > 0$  for  $n \ge N_1$ . From (E), we have  $\delta \Delta^m z_{n-m+1} = -F(n, y_{n-l}) \le 0$ , so clearly part (a) holds. Summing (E) from  $N_1$  to n and then letting  $n \to \infty$ , we have

$$\sum_{i=N_1}^{\infty} F(i, y_{i-l}) = \delta \Delta^{m-1} z_{N_1-m+1} - \delta L.$$

From condition (1), we see that (b) holds.

In order to prove (c), suppose that  $\delta = +1$  and  $z_n \to 0$  as  $n \to \infty$ . By (a),  $\{\Delta^{m-1}z_n\}$  is eventually decreasing. If  $\Delta^{m-1}z_n \to L < 0$  as  $n \to \infty$ , then there exists  $L_1 < 0$  and an integer  $N_2 \ge N_1$  such that  $\Delta^{m-1}z_n \le L_1$  for  $n \ge N_2$ . This contradicts  $z_n \to 0$  as  $n \to \infty$ . If  $\Delta^{m-1}z_n \to L > 0$  as  $n \to \infty$ , then  $\Delta^{m-1}z_n \ge L$  for  $n \ge N_1$  again contradicting  $z_n \to 0$  as  $n \to \infty$ . Therefore,  $\Delta^{m-1}z_n \to 0$  as  $n \to \infty$ . Since  $\{\Delta^{m-1}z_n\}$  is decreasing and  $F(n, y_{n-l}) \ne 0$ , we have  $\Delta^{m-1}z_n > 0$  for  $n \ge N_1$ . Hence, if  $m \ge 2$ , then  $\{\Delta^{m-2}z_n\}$  is increasing, and so  $\Delta^{m-2}z_n \to L_2 > -\infty$  as  $n \to \infty$ . If  $L_2 < 0$ , then  $\Delta^{m-2}z_n \le L_2$  for

 $n\geq N_1$ , which contradicts  $z_n\to 0$  as  $n\to\infty$ . Now assume  $L_2>0$ ; then there is an  $L_3>0$  and an integer  $N_3\geq N_1$  such that  $\Delta^{m-2}z_n\geq L_2$  for  $n\geq N_3$ . Again this contradicts  $z_n\to 0$  as  $n\to\infty$ . Thus,  $\Delta^{m-2}z_n\to 0$  as  $n\to\infty$ , and since  $\{\Delta^{m-2}z_n\}$  is increasing, we have  $\Delta^{m-2}z_n<0$  for  $n\geq n_1$ . Continuing in this fashion we see that (5) holds.

Part (d) follows immediately from (5) since  $\delta\Delta^m z_{n-m+1} \leq 0$ . To prove (e) for  $\delta = +1$ , first note that from (a) and (b), we have  $\{\Delta^{m-1}z_n\}$  is decreasing,  $\Delta^{m-1}z_n \to L \geq -\infty$  as  $n \to \infty$ , and  $\liminf_{n \to \infty} y_n = 0$  if  $L > -\infty$ . If  $L = -\infty$ , then clearly (6) holds.

If  $-\infty < L < 0$ , then eventually  $z_n \le L_1$  for some  $L_1 < 0$ , and so  $P_1 y_{n-k} \le p_n y_{n-k} < z_n$  contradicting  $\liminf_{n \to \infty} y_n = 0$ . Hence,  $L \ge 0$ . If L > 0, then eventually  $y_n \ge z_n \ge L_2 > 0$ , which contradicts  $\liminf_{n \to \infty} y_n = 0$ . Thus, we have  $\Delta^{m-1} z_n \to 0$  as  $n \to \infty$ . Moreover,  $\Delta^{m-1} z_n > 0$  since  $\{\Delta^{m-1} z_n\}$  is decreasing and  $F(n, y_{n-l}) \not\equiv 0$ . Hence,  $\{\Delta^{m-2} z_n\}$  is increasing. In addition,  $\Delta^{m-2} z_n < 0$  for otherwise  $\{\Delta^{m-2} z_n\}$  is eventually positive and increasing, which in turn implies  $\{z_n\}$  has a positive lower bound contradicting  $\liminf_{n \to \infty} y_n = 0$ . Now if  $\Delta^{m-2} z_n \to L_3 < 0$  as  $n \to \infty$ , then it is easy to see that  $z_n \le L_4 < 0$  eventually. This again contradicts  $\liminf_{n \to \infty} y_n = 0$ . Thus,  $\{\Delta^{m-2} z_n\}$  is increasing and tends to zero as  $n \to \infty$ . Continuing in this way we see that (6) holds.

The proof of (f) follows from the fact that either (5) or (6) implies  $z_n < 0$   $[z_n > 0]$  if m is even, and (5) implies  $z_n > 0$   $[z_n < 0]$  when m is odd.

To prove (g) when  $\delta = +1$ , suppose (5) does not hold. Then, by part (e), (6) holds, so  $z_n < 0$  for  $n \ge N_2$  for some  $N_2 \ge N_1$ . Since  $p_n \ge -1$ , we have

$$y_n \leq -p_n y_{n-k} \leq y_{n-k} \,.$$

This implies that  $\{y_n\}$  is bounded contradicting (6). If  $\delta = -1$ , and (5) does not hold, then part (e) implies that (6) holds, and so  $z_n \to \infty$  as  $n \to \infty$ . By (2), we have  $z_n \leq y_n \to \infty$  as  $n \to \infty$ .

Finally, to prove (h), if (6) does not hold, then (5) holds. This implies that  $\liminf_{n\to\infty} y_n = 0$ . Part (f) implies  $z_n > 0$  for  $n \ge N_2$  for some  $N_2 \ge N_1$ . Hence,  $y_n > -p_n y_{n-k} \ge y_{n-k}$ , which contradicts  $\liminf_{n\to\infty} y_n = 0$ .

Our first theorem places very mild restrictions on the sequence  $\{p_n\}$ , and as a consequence, the conclusions in the theorem are not very strong. However, it does give us the flavour of the results to be obtained in the subsequent theorems.

**THEOREM 2.** Suppose that condition (1) holds, m is either even or odd, and  $\{y_n\}$  is a nonoscillatory solution of (E).

(i) If  $\delta = +1$  and there exists a constant  $P_3$  such that

$$P_3 \leq p_n$$
,

then either |y<sub>n</sub>| → ∞ as n → ∞ or limit |y<sub>n</sub>| = 0. Moreover, if -1 ≤ P<sub>3</sub>, then the second conclusion holds.
(ii) If δ = -1 and there exists P<sub>4</sub> such that

$$p_n \leq P_4$$
,

then either  $\limsup_{n\to\infty} |y_n| = \infty$  or  $\liminf_{n\to\infty} |y_n| = 0$ . In addition, if  $P_4 \leq 0$ , then either  $|y_n| \to \infty$  as  $n \to \infty$  or  $\liminf_{n\to\infty} |y_n| = 0$ .

Proof. Let  $\{y_n\}$  be an eventually positive solution of (E), say,  $y_{n-m+1-k} > 0$  and  $y_{n-l} > 0$  for  $n \ge N_1$  for some  $N_1 \ge N_0$ . Part (a) of Lemma 1 implies  $\Delta^{m-1}z_n \to \delta L < \infty$  as  $n \to \infty$ , and part (b) of Lemma 1 implies  $\liminf_{n \to \infty} y_n = 0$  if  $\delta L > -\infty$ . If  $\delta L = -\infty$ , then  $\delta z_n \to -\infty$  as  $n \to \infty$ . If (i) holds,  $z_n \to -\infty$  as  $n \to \infty$ , and so

$$P_3y_{n-k} \leq y_n + p_ny_{n-k} = z_n \to -\infty$$

as  $n \to \infty$ . Hence,  $p_n < 0$  eventually and  $y_n \to \infty$  as  $n \to \infty$ . If  $P_3 \ge -1$ , then either  $\liminf_{n \to \infty} y_n = 0$  or  $y_n + p_n y_{n-k} = z_n < 0$  for all large n. Thus,  $y_n < -p_n y_{n-k} \le y_{n-k}$ , which implies  $\{y_n\}$  is bounded and this contradicts  $L = -\infty$ . If (ii) holds,  $z_n \to \infty$  as  $n \to \infty$ , so we have  $z_n \le y_n + P_4 y_{n-k} \to \infty$  as  $n \to \infty$ . This implies  $\limsup_{n \to \infty} y_n = \infty$ . If  $P_4 \le 0$ , then  $z_n \le y_n \to \infty$  as  $n \to \infty$ .

Remark. Theorem 2 generalizes Theorem 2.3 in [18].

For our next theorem, we ask that there exists a positive constant  $P_5$  such that

$$0 \le p_n \le P_5 < 1. \tag{7}$$

**THEOREM 3.** Suppose that conditions (1) and (7) hold.

- (i) If m is even and δ = +1, then all solutions of (E) are oscillatory, while if δ = -1, any solution {y<sub>n</sub>} of (E) is either oscillatory, y<sub>n</sub> → 0 as n→∞, or |y<sub>n</sub>| → ∞ as n→∞.
- (ii) If m is odd and  $\delta = +1$ , then either  $\{y_n\}$  is oscillatory or  $y_n \to 0$  as  $n \to \infty$ , while if  $\delta = -1$ , then either  $\{y_n\}$  is oscillatory or  $|y_n| \to \infty$  as  $n \to \infty$ .

Proof. Let  $\{y_n\}$  be an eventually positive solution of (E), say  $y_{n-m+1-k} > 0$  and  $y_{n-l} > 0$  for  $n \ge N_1 \ge N_0$ . By part (a) of Lemma 1, we have  $\{\delta\Delta^{m-1}z_n\}$  is decreasing and  $\{\delta\Delta^{m-1}z_n\}$  converges to  $\delta L \ge -\infty$  as  $n \to \infty$ . If  $\delta L = -\infty$ , then  $z_n$  is eventually negative if  $\delta = +1$ , and  $z_n \to \infty$  if  $\delta = -1$ . Moreover, since  $p_n \ge 0$ , the first possibility is excluded. If  $z_n \to \infty$ , then  $\{z_n\}$  is

increasing since  $\{\delta\Delta^{m-1}z_n\}$  has fixed sign. Hence, we have  $z_n = y_n + p_n y_{n-k} \le y_n + p_n z_{n-k} \le y_n + P_5 z_n$ , so  $z_n [1 - P_5] \le y_n \to \infty$  as  $n \to \infty$ . If  $\delta L > -\infty$ ,  $\lim_{n \to \infty} inf y_n = 0$ . Since  $\{z_n\}$  is monotonic,  $z_n \to l$  as  $n \to \infty$ .

If  $\delta L > -\infty$ ,  $\liminf_{n \to \infty} y_n = 0$ . Since  $\{z_n\}$  is monotonic,  $z_n \to l$  as  $n \to \infty$ . Observe that  $l \ge 0$  since l < 0 implies  $y_n < 0$ . Assume l > 0. If  $\{z_n\}$  is increasing, we again obtain  $z_n[1-P_5] \le y_n$ , which contradicts  $\liminf_{n \to \infty} y_n = 0$ . If  $\{z_n\}$  is decreasing, let  $1 - P_5 = \varepsilon > 0$ . Then  $z_n \le y_n + P_5 z_{n-k}$ , and since l is finite,

$$\frac{z_n}{z_{n-k}} \le \frac{y_n}{z_{n-k}} + P_5 \le \frac{y_n}{l} + P_5 \,.$$

Since  $P_5 + \frac{\varepsilon}{2} < 1$ , there exists  $N_2 > N_1$  such that  $\frac{z_n}{z_{n-k}} \ge P_5 + \frac{\varepsilon}{2}$  for  $n \ge N_2$ . Hence,  $y_n \ge \frac{l\varepsilon}{2}$  for  $n \ge N_2$  contradicting  $\liminf_{n \to \infty} y_n = 0$ . Thus,  $z_n \to 0$  as  $n \to \infty$ .

To complete the proof, just observe that part (d) of Lemma 1 implies that for m even  $z_n < 0$  if  $\delta = +1$ , and  $z_n > 0$  if  $\delta = -1$ . But  $z_n < 0$  contradicts  $y_n > 0$ , and  $z_n > 0$  implies  $y_n \le z_n \to 0$  as  $n \to \infty$ . Hence (i) holds. If m is odd, Lemma 1(d) implies  $z_n > 0$  if  $\delta = +1$ , and  $z_n < 0$  if  $\delta = -1$ ; part (ii) then follows.

EXAMPLES. The equation

$$\Delta^{m}[y_{n-m+1} + py_{n-m}] + \frac{(-1)^{m+1}(1+p\,\mathrm{e})(\mathrm{e}\,-1)^{m}\,\mathrm{e}^{(\gamma-1)n}}{\mathrm{e}^{\gamma+1}}y_{n-1}^{\gamma} = 0\,, \qquad n \ge 1\,,$$
(E<sub>1</sub>)

where  $0 \le p < 1$ , and  $\gamma \ge 1$  is the quotient of odd positive integers, satisfies the hypotheses of part (i) of Theorem 3 with  $\delta = -1$  and part (ii) with  $\delta = +1$ . Here,  $\{y_n\} = \{e^{-n}\}$  is a nonoscillatory solution which converges to 0 as  $n \to \infty$ . Equation (E<sub>1</sub>) also satisfies the hypotheses of part (i) of Theorem 2 provided p > -1/e and m is odd, or p < -1/e and m is even. The equation

$$\Delta^{m}[y_{n-m+1} + py_{n-m}] - \left(\frac{p}{e} + 1\right)(e-1)^{m} e^{(1-\gamma)n} e^{\gamma+1-m} y_{n-1}^{\gamma} = 0, \qquad n \ge 1,$$
(E<sub>2</sub>)

with m odd,  $0 \le p < 1$ , and  $\gamma \le 1$  the ratio of odd positive integers, satisfies the hypotheses of Theorem 3(ii) for  $\delta = -1$  and has the nonoscillatory solution  $\{y_n\} = \{e^n\}$  satisfying  $e^n \to \infty$  as  $n \to \infty$ . If p < -e, then Theorem 2(i) holds, and if  $-e , then Theorem 2(ii) holds. In each case, <math>\{y_n\} = \{e^n\}$ is an unbounded nonoscillatory solution. As an example of an equation satisfying the hypotheses of Theorem 3 and having an oscillatory solution, consider

$$\Delta^{m}[y_{n-m+1} + py_{n-m-1}] + \delta(1+p)2^{m}y_{n-\alpha} = 0, \qquad n \ge 1, \qquad (\mathbf{E}_{3})$$

where  $0 \le p < 1$ . If  $\delta = +1$  and  $\alpha$  is even, or  $\delta = -1$  and  $\alpha$  is odd, then  $\{y_n\} = \{(-1)^n\}$  is an oscillatory solution of  $(E_3)$ . If  $p \le 0$ , then equation  $(E_3)$ 

can also be used to construct examples of equations satisfying Theorem 2 and having oscillatory solutions.

**Remark.** Theorem 3(i) generalizes Theorem 5 in [24], and Theorem 8 in [27], and Theorem 3(i) generalizes part of Corollary 1(b) in [10].

For our next result, we will need a stronger version of condition (3), namely, that there exists a constant  $P_6 < 0$  such that

$$-1 < P_6 \le p_n \le 0. \tag{8}$$

**THEOREM 4.** Suppose that conditions (1) and (8) hold, and m is either even or odd. If  $\delta = +1$ , then any solution  $\{y_n\}$  of (E) is either oscillatory or satisfies  $y_n \to 0$  as  $n \to \infty$ , while if  $\delta = -1$ , then either  $\{y_n\}$  is oscillatory,  $y_n \to 0$ , or  $|y_n| \to \infty$  as  $n \to \infty$ .

Proof. Suppose that  $\{y_n\}$  is a nonoscillatory solution of (E) such that  $y_{n-m+1-k} > 0$  and  $y_{n-l} > 0$  for  $n \ge N_1 \ge N_0 \ge 0$ . Lemma 1(g) implies that (5) holds if  $\delta = +1$  and either (5) holds or  $|y_n| \to \infty$  as  $n \to \infty$  if  $\delta = -1$ . Suppose (5) holds. If either *m* is even and  $\delta = +1$  or *m* is odd and  $\delta = -1$ , (8) and Lemma 1(d) imply that  $z_n < 0$  eventually. It then follows that  $y_n \le -P_6 y_{n-k}$  for  $n \ge N_2$  for some  $N_2 \ge N_1$ . Hence,  $y_{n+k} \le (-P_6)^2 y_{n-k}$ , and by induction, we have that  $y_{n+jk} \le (-P_6)^{j+1} y_{n-k}$  for every positive integer *j*. Since  $0 < -P_6 < 1$ , this implies that  $y_n \to 0$  as  $n \to \infty$ .

If *m* is even and  $\delta = -1$  or *m* is odd and  $\delta = +1$ , then (8) and Lemma 1(d) imply  $0 < z_n < A_1$  for some constant  $A_1 > 0$  and sufficiently large *n*, and so  $0 < y_n < -P_6 y_{n-k} + A_1$ . If  $\{y_n\}$  is unbounded, then there exists an increasing sequence  $\{\alpha_i\}$  such that  $y_{\alpha_i} \to \infty$  as  $i \to \infty$ , and  $y_{\alpha_i} = \max\{y_n : N_1 \le n \le \alpha_i\}$ . For each *i*,  $y_{\alpha_i} < -P_6 y_{\alpha_i-k} + A_1 \le -P_6 y_{\alpha_i} + A_1$ , or  $(P_6 + 1)y_{\alpha_i} \le A_1$ . In view of (8), this is impossible. Therefore,  $\{y_n\}$  is bounded, and there exists a constant  $A_2 > 0$  such that  $\limsup_{n \to \infty} y_n = A_2$ . Thus, there is an increasing sequence  $\{\beta_i\}$  such that  $y_{\beta_j} \to A_2$  as  $j \to \infty$ . From (8), we have

$$P_6 y_{\beta_j - k} \ge y_{\beta_j} - z_{\beta_j}.$$

Since  $A_2 > 0$ , there exists  $\varepsilon > 0$  such that  $(1 - P_6)\varepsilon < (1 + P_6)A_2$ , and so  $0 < -P_6(A_2 + \varepsilon) < A_2 - \varepsilon$ . But for all sufficiently large j,  $y_{\beta_j - k} < A_2 + \varepsilon$ , so we have

 $A_2 - \varepsilon > -P_6 y_{\beta_i - k} \ge y_{\beta_i} - z_{\beta_i}$ 

for all such j. As  $j \to \infty$ , this contradicts  $y_{\beta_j} \to A_2$  as  $j \to \infty$  since  $z_{n_j} \to 0$  as  $j \to \infty$ .

**Remark.** Notice that if  $\delta = +1$ , Theorem 4 implies that unbounded solutions must be oscillatory. Theorem 4 generalizes Corollary 2.1(v) in [18], Theorem 3.4 in [20]. Theorem 4 in [24], Theorems 2 and 4 in [27], and a part of Corollary 1(b) in [10].

EXAMPLE. Equation (E<sub>1</sub>) provides examples of all the different cases in Theorem 4 depending on whether -1/e or <math>-1 . For <math>-1 , $equation (E<sub>2</sub>) satisfies the hypotheses of Theorem 4 with <math>\delta = -1$  and has an unbounded nonoscillatory solution. Similarly, for  $-1 , if <math>\delta = +1$  and  $\alpha$ is even, or  $\delta = -1$  and  $\alpha$  is odd, (E<sub>3</sub>) yields equations satisfying Theorem 4 and having oscillatory solutions.

**THEOREM 5.** Suppose that (1) and (4) hold. If

(i) m is even and  $\delta = -1$ ,

or

(ii) m is odd and  $\delta = +1$ ,

then any solution  $\{y_n\}$  of (E) is either oscillatory or  $|y_n| \to \infty$  as  $n \to \infty$ .

Proof. Let  $\{y_n\}$  be a nonoscillatory solution of (E) such that  $y_{n-m+1-k} > 0$  and  $y_{n-l} > 0$  for  $n \ge N_1 \ge N_0$ . Part (h) of Lemma 1 implies (6) holds, so  $\delta z_n \to -\infty$  as  $n \to \infty$ . Now for sufficiently large n, (4) implies that  $P_2 y_{n-k} \le z_n \le y_n$ , and hence  $y_n \to \infty$  as  $n \to \infty$ .

EXAMPLE. If m is even and  $-e \le p \le -1$  or m is odd and  $p \le -e$ , then equation (E<sub>2</sub>) satisfies the hypotheses of Theorem 5 and has the unbounded nonoscillatory solution  $\{y_n\} = \{e^n\}$  with  $e^n \to \infty$  as  $n \to \infty$ .

**Remark.** Theorem 5 generalizes Corollary 1(a) in [10], Theorem 4.3 in [20], and Theorems 2 and 7 in [24].

Next, we obtain a result on the behavior of the bounded solutions of (E) for the case when  $p_n$  is bounded above away from -1. Assume that there exists a constant  $P_7$  such that

$$P_2 \le p_n \le P_7 < -1. \tag{9}$$

**THEOREM 6.** Suppose conditions (1) and (9) hold. If m is even and  $\delta = +1$ , or if m is odd and  $\delta = -1$ , then any bounded solution  $\{y_n\}$  of (E) is either oscillatory or satisfies  $y_n \to 0$  as  $n \to \infty$ .

Proof. Assume that  $\{y_n\}$  is a bounded nonoscillatory solution of (E) with  $y_{n-m+1-k}>0$  and  $y_{n-l}>0$  for  $n\geq N_1\geq N_0$ . Lemma 1(e) implies that either (5) or (6) holds. If (6) holds, then the argument used in the proof of Theorem 4 shows that  $y_n\to\infty$  as  $n\to\infty$  contradicting  $\{y_n\}$  being bounded. Therefore (5) holds. Now Lemma 1(c) implies that if m even and  $\delta=+1$  or m is odd and  $\delta=-1$ , then  $\delta z_n<0$  and  $\{\delta z_n\}$  is increasing to zero as  $n\to\infty$ . Since  $\{y_n\}$  is bounded,  $\limsup_{n\to\infty}y_n=l$  is nonnegative and finite. If l>0, then there exists an increasing sequence  $\{n_j\}$  such that  $n_1>N_1$ , and  $n_j\to\infty$  and  $y_{n_j-k}\to l$  as  $j\to\infty$ . Let  $c=P_7+1<0$ ,  $\varepsilon=-cl/8>0$ ,  $d=cl/8P_7>0$ 

and  $\lambda = -3cl/4 > 0$ . Then, there exists  $N_2 \ge N_1$  such that  $\delta z_{n_j} > -\varepsilon$  and  $y_{n_j-k} > l-d > 0$  for  $j \ge N_2$ . Hence, for  $j \ge N_2$  we have

$$-\varepsilon < \delta z_{n_j} < y_{n_j} + P_7(l-d) \,.$$

It follows that

$$-y_{n_j} < P_7 l - P_7 d + \varepsilon = (c-1)l - cl/4 = -\lambda - l$$

so  $l + \lambda < y_{n_j}$  for  $j \ge N_2$ . This contradicts  $\limsup_{n \to \infty} y_n = l > 0$ . Thus,  $\limsup_{n \to \infty} y_n = 0$ , and so  $y_n \to 0$  as  $n \to \infty$ .

**Remark.** Theorem 6 generalizes Theorem 2.3 in [18] and Theorem 9 in [27].

EXAMPLE. If p < -1 and m is either even or odd, then equation (E<sub>1</sub>) satisfies the hypotheses of Theorem 6 and has the solution  $\{y_n\} = \{e^{-n}\}$ . Also, if -e and <math>m is odd, then equation (E<sub>2</sub>) shows that under the hypotheses of Theorem 6, it is possible for equation (E) to have unbounded solutions.

**Remark.** Equation  $(E_3)$  provides examples of equations satisfying the hypotheses of Theorems 5 and 6 and having oscillatory solutions. That is, under the conditions given here, it is not possible to obtain results on the limiting behavior of all solutions of (E).

Our next two results require a stronger condition on the function F, namely, that there exists a constant B > 0 such that

 $|F(n,u)| \ge B|u| \qquad \text{for all } n \ge N_0 \text{ and all } u. \tag{10}$ 

In addition, we ask that there exists  $P_8 > 0$  such that

$$0 \le p_n \le P_8 \,. \tag{11}$$

**THEOREM 7.** Let conditions (10) and (11) hold, m be even, and  $\{y_n\}$  be a solution of (E).

(i) If  $\delta = +1$ , then  $\{y_n\}$  is oscillatory,

while

(ii) if  $\delta = -1$  and  $\{y_n\}$  is bounded, then either  $\{y_n\}$  is oscillatory or  $y_n \to 0$  as  $n \to \infty$ .

Proof. Suppose  $\{y_n\}$  is a solution of (E) such that  $y_{n-m+1-k} > 0$  and  $y_{n-l} > 0$  for  $n \ge N_1 \ge N_0$ . By part (a) of Lemma 1,  $\{\delta \Delta^{m-1} z_n\}$  is decreasing and satisfies  $\Delta^{m-1} z_n \to \delta L \ge -\infty$  as  $n \to \infty$ . If  $\delta L < 0$ , then  $\{z_n\}$  is

eventually negative, which contradicts (11). Hence,  $\delta L \ge 0$ , and by (10), we have

$$\begin{split} |\Delta^{m-1}z_{N_1-m+1}| &\geq \delta\Delta^{m-1}z_{N_1-m+1} = \delta L + \sum_{i=N_1}^{\infty} F(i,y_{i-l}) \\ &\geq \delta L + B\sum_{i=N_1}^{\infty} y_{i-l} \,. \end{split}$$

If  $\delta = +1$ ,  $\Delta^{m-1}z_n$  is bounded above; if  $\delta = -1$ , the boundedness assumption on  $y_n$  implies that  $|\Delta^{m-1}z_n|$  is bounded. In either case, the series on the right hand side of the above inequality converges, and so  $y_n \to 0$  as  $n \to \infty$ . This in turn implies  $z_n \to 0$  as  $n \to \infty$ . By Lemma 1(d),  $z_n < 0$  if m is even and  $\delta = +1$ , so we get a contradiction in this case.

EXAMPLE. If *m* is even and  $p \ge 0$ , then  $\alpha$  in equation (E<sub>3</sub>) can be chosen so that the hypotheses of Theorem 7 are satisfied and (E<sub>3</sub>) has the oscillatory solution  $\{y_n\} = \{(-1)^n\}$ . In addition, for *m* even,  $\gamma = 1$ , and  $p \ge 0$ , equation (E<sub>1</sub>) satisfies Theorem 7(ii) and has the bounded nonoscillatory solution  $\{y_n\} = \{e^{-n}\}$  which converges to zero. Equation (E<sub>2</sub>) with *m* even,  $\gamma = 1$ , and  $p \ge 0$ satisfies part (ii) of Theorem 7 and has an unbounded nonoscillatory solution.

**THEOREM 8.** Let conditions (10) and (11) hold, m be odd, and  $\{y_n\}$  be a solution of (E). If  $\delta = +1$ , then either  $\{y_n\}$  is oscillatory or  $y_n \to 0$  as  $n \to \infty$ , while if  $\delta = -1$  and  $\{y_n\}$  is bounded, then  $\{y_n\}$  is oscillatory.

Proof. As in the proof of Theorem 7, for any nonoscillatory solution  $\{y_n\}$  we have  $y_n \to 0$  and  $z_n \to 0$  as  $n \to \infty$ . But since *m* is odd, if  $\delta = -1$ , Lemma 1(d) contradicts  $z_n > 0$ .

EXAMPLE. If m is odd,  $\gamma = 1$ , and  $p \ge 0$ , equation (E<sub>1</sub>) satisfies the hypotheses of Theorem 8. Here,  $\{y_n\} = \{e^{-n}\}$  is a solution. With m odd,  $\delta = -1$ ,  $\alpha$  odd, and  $p \ge 0$ , equation (E<sub>3</sub>) satisfies Theorem 8 and has the bounded oscillatory solution  $\{y_n\} = \{(-1)^n\}$ . This also shows that the hypotheses of Theorem 8 are not sufficient to ensure that oscillatory solutions of (E) tends to zero as  $n \to \infty$ .

**Remark.** Theorem 8 generalizes Theorem 2 in [26] and part of Corollary 1(b) in [10].

EXAMPLE. As a final example, consider the equation

$$\Delta^{m}[y_{n-m+1} + py_{n-m}] + (-1)^{\beta} (e+1)^{m} (1-p/e) e^{\beta+1-m} y_{n-\beta} = 0, \qquad n \ge 1+\beta.$$
(E<sub>4</sub>)

For any value of the nonnegative integer  $\beta$ , equation (E<sub>4</sub>) has the unbounded oscillatory solution  $\{y_n\} = \{(-1)^n e^n\}$ . Hence, by appropriately choosing the parity of  $\beta$ , it is possible to obtain examples of equation (E) which have unbounded oscillatory solutions for any values of m,  $\delta$ , and p.

#### 3. Concluding remarks

We conclude this paper with a few suggestions for further research. First, by examining Theorems 4–6, we see that  $p_n \equiv -1$  behaves as a bifurcation point for the behavior of nonoscillatory solutions of (E). Moreover, if  $p_n \equiv -1$  and either

(a)  $\delta = +1$  and m is even,

or

(b)  $\delta = -1$  and *m* is odd,

the behavior of nonoscillatory solutions, if any, is not fully understood. If (a) holds, then Theorem 2(i) tells us that  $\liminf_{n\to\infty} |y_n| = 0$ , and if (b) holds, Theorem 2(ii) says that either  $|y_n| \to \infty$  as  $n \to \infty$  or  $\liminf_{n\to\infty} |y_n| = 0$ . In fact, when (9)  $(P_2 \leq p_n \leq P_7 < -1)$  and either (a) or (b) holds, we are unable to rule out the possibility of equation (E) having a solution  $\{y_n\}$  with  $\limsup_{n\to\infty} |y_n| = \infty$  and  $\liminf_{n\to\infty} |y_n| = 0$  (see Theorem 6). Further study of this situation is needed.

Secondly, when  $p_n \ge 1$ , the results here require the additional hypothesis (10). Without this added condition some, albeit minimal, information about the behavior of solutions is obtainable from Theorem 2. It would be interesting to see the conclusions of Theorems 7–8 reached without this added assumption.

#### REFERENCES

- [1] AGARWAL, R. P.: Difference Equations and Inequalities, Marcel Dekker, New York, 1992.
- [2] BYKOV, YA. V.—ZHIVOGLYADOVA, L. V.—SHEVTSOV, E. I.: Sufficient conditions for solutions of nonlinear finite-difference equations to have the oscillatory property, Differentsial'nye Uravneniya 9 (1973), 1523-1524.
- [3] BYKOV, YA. V.—ZHIVOGLYADOVA, L. V.: Oscillatory properties of solutions of nonlinear finite-difference equations, Differentsial'nye Uravneniya 9 (1973), 2080–2081.
- [4] BYKOV, YA. V.—SHEVTSOV, E. I.: Sufficient conditions for the oscillation of solutions of nonlinear finite-difference equations, Differentsial'nye Uravneniya 9 (1973), 2241-2244.
- [5] CHENG, S. S.—YAN, T. C.—LI, H. J.: Oscillation criteria for second order difference equation, Funkcial. Ekvac. 34 (1991), 223-239.
- [6] CHUANXI, Q.—LADAS, G.: Oscillatory behavior of difference equations with positive and negative coefficients, Matematiche (Catania) 44 (1989), 293-310.
- [7] ERBE, L. H.—ZHANG, B. G.: Oscillation of discrete analogues of delay equations, Differential Integral Equations 2 (1989), 300-309.
- [8] ERBE, L.—ZHANG, B. G.: Oscillation of difference equations with delay. In: Differential Equations and Applications Vol. I (A. R. Aftabizadeh, ed.), Ohio U. Press, Athens, 1989, pp. 257-263.

E. THANDAPANI — P. SUNDARAM — JOHN R. GRAEF — PAUL W. SPIKES

- [9] GEORGIOU, D. A.—GROVE, E. A.—LADAS, G.: Oscillations of neutral difference equations, Appl. Anal. 33 (1989), 243-253.
- [10] GEORGIOU, D. A.-GROVE, E. A.-LADAS, G.: Oscillation of neutral difference equations with variable coefficients. In: "Differential Equations, Stability and Control" (S. Elaydi, ed.), Lecture Notes in Pure and Appl. Math. 127, Dekker, New York, 1991, pp. 165-173.
- [11] HE, X.-Z.: Oscillatory and asymptotic behaviour of second order nonlinear difference equations, J. Math. Anal. Appl. 175 (1993), 482-498.
- [12] HOOKER, J. W.—PATULA, W. T.: A second-order nonlinear difference equation: oscillation and asymptotic behavior, J. Math. Anal. Appl. **91** (1983), 9-29.
- [13] JAROŠ, J.—STAVROULAKIS, I. P.: Necessary and sufficient conditions for oscillations of difference equations with several delays (To appear).
- [14] LADAS, G.: Explicit conditions for the oscillation of difference equations, J. Math. Anal. Appl. 153 (1990), 276-287.
- [15] LADAS, G.: Recent developments in the oscillation of delay difference equations. In: "Differential Equations, Stability and Control" (S. Elaydi, ed.), Lecture Notes in Pure and Appl. Math. 127, Dekker, New York, 1991, pp. 321-332.
- [16] LADAS, G.—PHILOS, CH. G.—SFICAS, Y. G.: Sharp conditions for the oscillation of delay difference equations, J. Appl. Math. Simm. 2 (1989), 101-111.
- [17] LAKSHMIKANTHAM, V.—TRIGIANTE, D.: Theory of Difference Equations: Numerical Methods and Applications. Math. Sci. Engrg. 181, Academic Press, New York, 1988.
- [18] LALLI, B. S.—ZHANG, B. G.: On existence of positive solutions and bounded oscillations for neutral difference equations, J. Math. Anal. Appl. 166 (1992), 272–287.
- [19] LALLI, B. S.—ZHANG, B. G.: Oscillation and comparison theorems for certain neutral difference equations, J. Austral. Math. Soc. (To appear).
- [20] LALLI, B. S.—ZHANG, B. G.—LI, J. Z.: On the oscillation of solutions and existence of positive solutions of neutral difference equations, J. Math. Anal. Appl. 158 (1991), 213-233.
- [21] PATULA, W. T.: Growth and oscillation properties of second order linear difference equations, SIAM J. Math. Anal. 10 (1979), 55-61.
- [22] PATULA, W. T.: Growth, oscillation and comparison theorems for second order linear difference equations, SIAM J. Math. Anal. 10 (1979), 1272–1279.
- [23] SZMANDA, B.: Oscillation theorems for nonlinear second-order difference equations, J. Math. Anal. Appl. 79 (1981), 90-95.
- [24] THANDAPANI, E.: Asymptotic and oscillatory behavior of solutions of a second order nonlinear neutral delay difference equation, Riv. Math. Univ. Parma (5) 1 (1992), 105-113.
- [25] THANDAPANI, E.—SUNDARAM, P.: On the asymptotic and oscillatory behavior of solutions of second order nonlinear neutral difference equations (To appear).
- [26] THANDAPANI, E.—SUNDARAM, P.: Asymptotic and oscillatory behavior of solutions of first order nonlinear neutral difference equations (To appear).
- [27] THANDAPANI, E.—SUNDARAM, P.—GRAEF, J. R.—SPIKES, P. W.: Asymptotic properties of solutions of nonlinear second order neutral delay difference equations, Dynam. Systems Appl. 4 (1995), 125–136.
- [28] THANDAPANI, E.-SUNDARAM, P.-GYÖRI, I.: Oscillations of second order nonlinear neutral delay difference equations (To appear).
- [29] WANG, Z.—YU, J.: Oscillation criteria for second order nonlinear difference equations, Funkcial. Ekvac. 34 (1991), 313–319.

#### OSCILLATORY AND ASYMPTOTIC BEHAVIOR

[30] ZAFER, A.—DAHIYA, R. S.: Oscillations of a neutral difference equation, Appl. Math. Lett. 6 (1993), 71-74.

Received May 16, 1994

- \* Department of Mathematics Madras University P G Center Salem 636011 Tamilnadu INDIA
- \*\* Department of Mathematics and Statistics Mississippi State University Mississippi State, MS 39762 U. S. A. E-mail: graef@math.msstate.edu